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   (Paket Soal B)

P E T U N J U K   U M U M
1. Sebelum mengerjakan ujian, telitilah terlebih dahulu jumlah dan nomor halaman yang terdapat pada naskah ujian.
2. Tulislah nomor peserta Saudara pada lembar jawaban, sesuai dengan petunjuk yang diberikan oleh panitia.
3. Bacalah dengan cermat setiap petunjuk yang berisi penjelasan cara menjawab soal.
4. Jawablah terlebih dahulu soal-soal yang menurut Saudara mudah, kemudian lanjutkan dengan menjawab soal-soal yang lebih sukar sehingga semua soal terjawab.
5. Tulislah jawaban Saudara pada lembar jawaban ujian yang disediakan dengan cara dan petunjuk yang telah diberikan oleh petugas.
6. Untuk keperluan coret-mencoret dapat menggunakan tempat yang kosong pada naskah ujian ini dan jangan sekali-kali menggunakan lembar jawaban.
7. Selama ujian Saudara tidak diperkenankan bertanya atau meminta penjelasan mengenai soal-soal yang diujikan kepada siapapun, termasuk pengawas ujian.
8. Setelah ujian selesai, harap Saudara tetap duduk di tempat sampai pengawas datang ke tempat Saudara untuk mengumpulkan lembar jawaban.
9. Perhatikan agar lembar jawaban ujian tidak kotor, tidak basah, tidak terlipat dan tidak sobek.
10. Jumlah soal sebanyak 50 butir, setiap butir soal terdiri atas 5 (lima) pilihan jawaban.
[image: image16.png]



11. Kode naskah ujian ini  
P E T U N J U K   K H U S U S

1. Jumlah soal sebanyak 50 butir yang terdiri dari 15 soal listening test dan 35 soal written test.

2. Pilihlah salah satu jawaban yang paling tepat dengan menghitamkan pada salah satu huruf a, b, c, d, atau e di Lembar Jawaban.

3. Untuk membetulkan jawaban, hapuslah dengan karet penghapus sampai bersih, kemudian hitamkan jawaban yang benar
LISTENING SECTION

Listening Section    
In this section of the test, you will have the chance to show how well you understand spoken English. There are four parts to this section, with special directions for each part.

Part I

Questions 1 to 3

Directions:

In this part of the test, you will hear some dialogues spoken in English. The dialogue will be spoken twice. They will not be printed in your test sheet, so you must listen carefully to understand what the speakers are saying.

After you hear a dialogue and the question about it, read the five possible answers and decide which one would be the best answer to the question you have heard. Now listen to a sample question.

You will hear:

Man

: How is the meal?

Woman
: It’s very delicious. I’ve never thought you can do it.

Man

: On every weekend I always help my mother to cook.

Woman
: I am ashamed not to do that.

You will also hear:

Narrator: What does the woman admire?





                                 Sample answer
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You will read in your test sheet:                                                                                                                       

A. The man’s cooking

B. The man’s mother’s meal

C. The man’s diligence to cook

D. The way how the man cooks

E. How the man spends his weekend

The best answer to the question ‘What does the woman admire?’ is choice (A), ‘The man’s cooking’. Therefore, you should answer choice (A)

1.

A. winter 

B. autumn

C. summer 

D. weather

E. wet season  
2. 

A. To arrange his schedule.

B. To postpone his meeting.

C. To make an appointment.

D. To cancel his appointment.

E. To reschedule his appointment.

3. 

A. Egypt

B. France

C. Hungary

D. North America

E. The Holy Land

Part II

Questions: 4 to 8

Directions:
In this part of the test, you will hear several questions or statements spoken in English followed by four responses, also spoken in English. The questions and responses will be spoken twice. They will not be printed in your test sheet, so you must listen carefully to understand what the speakers are saying. You have to choose the best response to each question or statement.

Now listen to a sample question:

You will hear:

Woman
:  I’m sorry I couldn’t attend to the party last night.      Sample answer

Man

: Why?

Woman
: My grandma passed away.                                                 

Man

: …      
You will also hear:  

A. I passed the exam.

B. I’m sorry to hear that.

C. I’m sorry I didn’t go there.

D. You must come at the next party.

The best response to the statement ‘My grandma passed away’ is choice (B), ‘I’m sorry to hear that.’ Therefore, you should choose choice (B).

4. Mark your answer on your answer sheet

5. Mark your answer on your answer sheet

6. Mark your answer on your answer sheet

7. Mark your answer on your answer sheet

8. Mark your answer on your answer sheet
Part III

Questions 9 to 11

Directions:

In this part of the test, you will hear some monologues spoken in English. The monologues will be spoken twice. They will not be printed in your test book, so you must listen carefully to understand what the speakers are saying.

After you hear the monologue and the question about it, look at the pictures and decide which one would be the best answer to the question you have heard.  

9.

                A                                          B                                            C
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                D                                          E                                                                                                                                   
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10.

                     A                                                  B                                                   C
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                    D                                                    E
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11.

                        A                                                      B                                                C
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                          D                                                E
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Questions 12 to 15

Directions:

In this part of the test you will hear several monologues. Each monologue will be spoken twice. They will not be printed in your test book, so you must listen carefully to understand what the speakers are saying.

After you hear the monologue and the question about it, read the five possible answers and decide which one would be the best answer to the questions you have heard.

12.

A. Labor laws

B. Home work

C. Policy development

D. Homeworkers seminar

E. Indonesian homeworkers
13.

A. November 6

B. November 16

C. December 6

D. December 16

E. December 17

14. 

A. There was no prey.

B. Tyawan disturbed him.

C. A centipede approached him..

D. His hole was filled with stones.

E. A girl’s scream woke him up.

15.

A. Angry

B. Nervous

C. Worried

D. Regretful

E. Disappointed

THIS IS THE END OF THE LISTENING SECTION
READING SECTION

This text is for questions 16 to 18.
	On September 24, 2015, the Heseltine Corporation (HC) is moving sixty technical and management level employees to their new manufacturing plant in the Western United States. Before the move, the company will prepare employees for the cultural changes, they will encounter when moving from urban Europe to a small town in the American West. The employees and their families will attend special seminars on the habits of American. They will learn about the regional vocabulary and the daily life. Without this training, even small cultural differences could cause big misunderstanding.


16. What does the text tell about?
A. The impact of cultural changing to HC  
B. The special seminars about the habits of Americans.
C. The seminars attended by the new employees from Europa
D. The program given by the HC to the new manufacturing employees

E. The movement of sixty HC’s employees to the new manufacturing plant
17. What do the employees and their families get from the special seminar?

A. The knowledge of the habits and daily life in America

B. The  implementation of cross cultural understanding

C. The preparation of their new manufacturing plant

D. The introduction of small cultural differences

E. The explanation of  the habit of American

18. From the text, we infer that … before moving West America.

A. the employees and their families have prepared cultural changes 

B. the employees and their families do not need to prepare culture

C. C. the company has prepared the employees and their families 

D. the employees and their families should not prepare anything 

E. no employees prepared cultural changes and language 
This text is for questions 19 and 20.


19. What does Desi tell to Leni?

A. Leni’s problem

B. Desi’s appointment

C. Desi’s meeting rescheduling 

D. Desi’s previous letter to Leni

E. A meeting held at Desi’s house

20. Why did Leni ask Desi to come to her house?

A. Desi would discuss her problem with Leni

B. Leni wanted Desi to solve her problem

C. Leni persuaded Desi to go somewhere

D. Desi wanted to meet Leni’s family

E. Leni wanted to chat with Desi

This text for is questions 21 to 23. 

First, when inserting the SIM Card to cellphone, make sure that the cellphone has been switched off and follow the direction below.

Second, press the locking catch and slide the cover then lift it off the phone.

Third, push two catches in the opposite directions and remove the battery.

Fourth, slide the SIM card carefully into the slot and make sure that the golden connectors are facing to the connector of the phone.

Fifth, put the battery and align it until snaps into its place.

Sixth, insert the two catches of the back cover corresponding slot in the phone and slide the cover forward button of the phone until locks into place.

Seventh, don't forget to switch on the cellphone. Wait until it is ready to use.

21. What is the text about?

A. The stages of arranging the cellphone elements       

B. The procedure of connecting the cellphone

C. The process of making the cellphone

D. The strategies of using the cellphone

E. The steps of operating the cellphone

22. Based on the text above, the writer informs how to … to the readers.

A. insert the SIM Card to cellphone 

B. push catch in the opposite directions

C. slide the SIM card carefully into the slot

D. press the locking catch and slide the cover 

E. insert the catch of the back cover corresponding slot 

23. What should we do before sliding the SIM card carefully into the slot?

A. To press the locking catch  

B. To slide the cover then lift it off the phone

C. To make sure that the cellphone has been switched off

D. To put the battery and align it until snaps into its place

E. To push two catches in the opposite directions and remove the battery

This text is for questions 24 to 27.
	TANGGERANG, KOMPAS.com-Tanggerang Government through the Department of Agriculture plans to create fruit gardens on a number of municipal lands starting in 2014.


“In 2013, we are going to create fruit gardens on a number of fields owned by the government, “said the Head of Agriculture Department IIs Aisyah Rodiah, Tuesday (6th June).


Iis added, this program will be completed in many stages. Next year, we will start from Koang Jaya. Then continue to other fields owned by the government, such as Rawa Kucing and Kunciran, ”she said.


She explained that this program is expected to secure the food supply the people, especially fruit. Fruit which will be planted in the gardens is dependent upon the area. Tanggerang Government will work with farmers and people around the park to manage the fruit gardens. Tanggerang government will also empty experts to develop the gardens.

24. What does the reason of Tanggerang Government create fruit gardens on a number of fields?

A. To ask farmers around the park to develop fruit gardens

B. To secure the food supply for people especially fruit

C. To employ experts to develop the gardens

D. To develop Tanggerang city

E. To fulfill the need of fruit

25. The last paragraph tells us that the government will … with people around the park to arrange the fruit gardens.

A. accomplish

B. conduct

C. farm

D. cope

E. do

26. From the text above, we conclude that the government intends to … .

A. plant fruit gardens

B. develop fruit gardens

C. complete the program

D. engage experts to maintain the fruit gardens

E. develop farmers and people’s roles in the fruit gardens

27. “Next Year, we will start from Koang Jaya, then continue to other fields…”      (Paragraph 3)

The underlined word is closest in meaning to … . 

A. develop

B. confirm

C. proceed

D. dominate

E. contribute

This text is for questions 28 to 30.

Moscow: A Russian journalist has uncovered the evidence of another Soviet nuclear catastrophe killed 10 sailors and contaminated an entire town.

	        Yelena Vazrshavskya is the first journalist to speak to people who witnessed the explosion of a nuclear submarine at the naval base of Shkotovo - 22 near Vladivostok.

	       The accident, which occurred 13 months before the Chernobyl disaster, spread radioactive fall-out over the base and nearby town, but was covered up by officials of the Soviet Union. Residents were told the explosion in the reactor of the Victor-class submarine during a refit had been a ‘thermal’ and not a nuclear explosion. And those involved in the cleanup operation to remove more than 600 tons of contaminated material were sworn to secrecy.

	       A board of investigators was later to describe it as the worst accident in the history of the Soviet Navy.
28. What kind of accident occurred when a refit had been a thermal explosion ?

A. The explosion in the reactor of the Victor-class submarine

B. Radioactive fall-out over the base and nearby town

C. The Soviet Union battle

D. The Chernobyl disaster

E. A nuclear explosion

29. Why were the sailors killed?

The sailors were killed because of … .

A. spreading radioactive fall-out over

B. contaminating Soviet nuclear

C. Chernobyl disaster

D. earthquake

E. a thermal explosion
30. From the text above, we know that … .

A. the first journalist was victim of the accident.

B. a board of investigators was from Vladivostok.

C. ten sailors killed because of the soviet nuclear catastrophe. 

D. the accident occurred 12 month before the Chernobyl disaster.

E. less than 600 tons of contaminated material was sworn to secrecy.




This text is for questions 31 to 33.

Jonathan Ive, not so many people know his name, he is an Englishman but he works for Apple, the computer company, he joined the company in 1992, he is a vice president in the Apple Company now. He is the man who designed the iMac and the iPod. He was designed it and other things related to the Macintosh.

Jonathan Ive was a king of designer in Apple company and he became the most important industrial designer in the world. The most important thing for industrial designers is function - what something is used for, what it can do. And with computers speed was the most important thing. Nobody cared what they looked like, people just wanted them to be fast, really fast. But when Jonathan Ive designed the iMac for Apple, he designed something beautiful, and people loved it. It was still a good computer and very easy to use, but they also loved the way it looked – the round shape, the colors – and they all bought it. Then, the iPod is another example of perfect design from Jonathan Ive. First, it’s a fantastic idea – it changed the way that millions of people listen to music. 

31. After reading the text, the writer … .

A. tries to design another same product

B. admires Jonathan Ive’s design

C. wants to meet Jonathan Ive

D. uses the Apple products

E. buys Apple products

32. The first paragraph tells about … .

A. Jonathan Ive as a king

B. Jonathan Ive as the designer

C. Jonathan Ive as the genius person

D. Jonathan Ive as the vice president 

E. Jonathan Ive as the Apple employee

33. Why does Jonathan Ive become a genius designer?

A. He made people listen to music differently and unusually.

B. He created unusual design for Macintosh and iPod.

C. He worked in the industrial company.

D. He created a big part for iPod.

E. He was the vice president.    

This text is for question 34 to 36.

As known, a cell phone is a great gadget in this modern world. A cell phone is actually a radio in certain way. We can communicate to other people with a cell phone in real time. Million people use cell phone for their communication. Even nowadays, people use cell phones to communicate in voice, written and data. 

In this era, Alexander Graham Bell was a person made great change in way people communicate to each other. He invented a telephone in 1876 while wireless radio was formally known in 1894 presented by Guglielmo Marconi. By the two technologies, then a cell phone was invented and launched. 

Moreover, a cell phone work is really wonderful. A cell phone or cellular phone works by transmitting signal of radio to towers of cellular. The towers are networked to a central switching station. The connection usually uses wire, fiber optic-cables, or microwave.

In addition, the central switching station handling calls in certain given area is directed connecting to the wire-based telephone system. Cellular phones are picked up by the towers and related to another cellular telephone user or the user of wire-based telephone network.

Furthermore, the tower varies in the capacity, and the capacity receives signals. Some can receive the signal from short distances and the others can receive more distances. However, there are usually more than one tower in a certain given area so that the system can handle the increasing telephone traffic.

34. What does the writer mainly report in the text above?

A. The history of a cell phone invention

B. The story of Alexander Graham Bell

C. A cell phone as a tool of communication

D. The importance of cell phone for people nowadays

E. A cell phone as a medium of communication and gaining knowledge

35. Why are there more than one tower in a certain given area? 

A. The tower can receive the signal from distances 

B. The increasing telephone traffic can be handled by the system 

C. Tower is directed connected to the wire-base d telephone system

D. The tower vary in the capacity and the capacity to receive signal

E. The connection usually uses wire, fiber optic-cables, or microwave.

36. What is the main idea of the second paragraph?

A. Alexander made great change of communication.
B. Alexander found two technologies.

C. Marconi invented wireless radio.
D. Marconi launched a cell phone.
E. Alexander invented a telephone.
This text is for questions 37 to 39.

From a point of view, we agree that the government has roles to play in the field of public transportation for our lives. Regarding to the government roles, let’s make it positive one. We consider it necessary because the benefit of free fully subsidized is for us.


First, it will motivate more people to leave their cars at home. We think it can reduce population, traffic jams and insurance costs due to accidents. Besides, we can go green and trees can grow up healthy. We also think we can live economically without spending a lot of money. 


Second, we must consider health is our benefit. We can exercise by walking to the bus stop. This activity will reduce our visits to the doctors or hospitals since we are healthier. In addition, we do expect we’ll have no high pressure, stress and no complex problems.


Third, free transportations will encourage us to enjoy working at offices locating in distant areas. We can also visit our friends and family comfortably. Moreover, we think other social benefits, such as imagine how much we’ll learn from each other when sharing with drivers instead of sitting in isolation in our cars.


Finally, we are no more fumbling for change of our transportation. We just hop on and off streetcar. We can go by bus wherever and whenever you like. It is a great idea, especially for those living in crowded and populated cities. It will renew life in our streets. 

37. What is argued in the text above?

A. The car  pollution

B. The fuel subdivision

C. The main effect of traffic jams

D. People should leave our cars at home

E. The benefit of free public transportations 

38. What is the benefit of the public transportation for us?

A. The free public transportation can make us tired.

B. The free public transportation may reduce budget.

C. The free public transportation can give us healthier.     

D. The free public transportation makes people enjoyable.

E. The free public transportation might reduce visiting doctors.

39. “Finally, we are no more fumbling for change of our transportation.” (The last paragraph)

The underlined word is closest in meaning to … . 

A. interesting

B. deceiving

C. thinking
D. exciting

E. hesitating
This text is for questions 40 to 42.

In the modern era, the technology has developed, such as a certain degree that scientist are able to create new forms of life. One of them is cloning. It is debatable whether cloning of animals should be allowed or not. It seems endless.


Those agreeing with animal cloning usually argue that the cells produced from them can be used to stop animals from becoming extinct. They also add that cloning has a purpose to produce high quality of cells.


Many species are becoming rarer. Scientists are concerned if they don’t do something to save certain species, these animals will be extinct forever. For this reason, researchers have improved cloning technology, so that many rare species can be successfully cloned.


Not everyone is excited about animal cloning. Some people feel that it could have terrible consequences. For example, if dinosaurs are cloned, then men could be extinct. It is clear that these ferocious beasts cannot live together with humans. In history, these creature animals lived several thousand years before men appeared. 

40. What is mainly discussed in the text?

A. The positive effect of animal coning 

B. The controversy of animal cloning 

C. The agreement of animal cloning

D. The benefit of animal cloning

E. The effect of animal cloning

41. Why does the scientist intend to clone the animal?

A. It may increase the population in the world

B. it can prevent the extinction of the animal

C. It can make a life of the giant animals 

D. It  will create some new creatures

E. It can extinct the men

42. Some people feel that it could have terrible consequences. (The last paragraph)

The underlined word is closest in meaning to … .

A. terrific

B. extreme

C. dubious

D. dreadful 

E. terrestrial 

This text is for questions 43 to 45.

Birds belong to a class of warm blooded vertebrate animals with feather covered bodies. Next to the mammals, birds are the important of land-living vertebrates. All birds have feathers, although in some types, particularly those cannot fly, the normal structure of the feathers may be much modified and be downy, wooly, or straw like. The forelimbs of birds are modified into wings. The bony part of the tail, except in the very earliest fossil birds, is very short, and the visible tail is composed of feathers only. The teeth are absent except in some fossil forms. As in mammals-the only other group of warm-blooded animal-the circulation is highly perfected so that there is no mixing of arterial and venous blood, but the arrangement of veins and arteries by which this is accomplished, is different in the two groups. Birds have been hearing, although they have no external ears. The sense of sight also is very keen, but the sense of smell is weak or lacking, except in a few vultures and other birds.

43. From the text, both birds and mammals have … .

A. backbones

B. keen sights

C. keen hearing

D. downy feathers

E. weak sense of smell

44. The passage tells about … .

A. species of the birds

B. definition of the birds

C. clarification of the birds

D. classification of the birds

E. characteristics of the birds

45. Why can the birds fly?

A. The arrangement of veins and arteries are really complicated.

B. The birds belong to warm blooded vertebrate animals.

C. The birds are the land-living vertebrates.

D. The forelimbs is modified into wings.

E. The birds have the weak sense of smell.

46. Arrange the following sentences into the correct and meaningful paragraph!

1. One day I went to a library.

2. I had an unforgettable experience when I lived in the States.

3. It was really impressing for me.

4. There were a man and his toddler boy in front of me.

5. The boy opened the swinging door.

6. He let me go inside first.

7. Knowing there was somebody behind, he held it open.

Which of the following arrangements is correct?

A. 1 – 2 – 4 – 5 – 7 – 6 – 3 
B. 2 – 1 – 4 – 5 – 7 – 6 – 3 
C. 2 – 3 – 1 – 4 – 5 – 7 - 6

D. 3 – 2 – 1 – 4 – 5 – 7 – 6 
E. 4 – 3 – 2 – 1 – 6 – 7 – 5 
47. Arrange the following phrases or sentences into the correct and meaningful paragraph!

1. Store and use the device with the cover attached.

2. Before removing the cover.

3. Avoid touching electronic components while changing the covers.

4. Switch off the power.

5. Disconnect the charger and any other device.

6. Changing the cellphone covers.

Which of the following arrangements is correct?

A. 1 – 2 – 3 – 4 – 5 – 6 
B. 6 – 2 – 3 – 1 – 4 – 5 
C. 6 – 2 – 4 – 5 – 3 – 1 
D. 5 – 4 – 3 – 2 – 1 – 6 
E. 3 – 1 – 4 – 5 – 2 – 6 
For questions 48 to 50, complete the following paragraph with the words provided !

New York is the capital city of the world – and it certainly (48) … that way. But in the centre of this exciting, noisy, polluted city there is a place to find peace and quiet. A short walk from busy Fifth Avenue in Manhattan you’ll find Central Park. Central Park is the green heart of New York City and over 25 million people come here each year to escape the city. People run, swim, climb or simply sit and read a book in the huge park’s different (49) … And it’s not just for people. Lots of rare birds have made their home in the park and there are legends of big cats hiding in the dark trees. 

Although it looks completely natural, the park is man-made, created over 150 years ago. Frederick Law Olmsted and Calvert Vaux designed the park at a time when the city was a very crowded, dirty and unhealthy place to live. They wanted to make a place where rich and poor people could find (50) … air in the dirty city. As a friend of mine always tells me, “Life in New York would be impossible without Central Park”.

48. 

A. feels

B. makes

C. thinks

D. creates     

E. decides


49.  

A. scenery

B. place

C. part

D. road 

E. city

50. 

A. difficult

B. natural

C. noisy

D. huge

E. fresh
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Jakarta, 2nd March, 2015


Dear Leni,





I have received your letter asking me to meet you at your house this Sunday to discuss the urgent matter you have.





 I regret, however, to say that it will not be possible for me to see you on Sunday as I already have a previous appointment. I shall see you on Monday next week at 5 p.m. I hope the change of date will be convenient for us.





Yours sincerely,





Desi 











